



**Vendor Ranking** 

Page 1 of 1

**Letting:** 06251030 October 30, 2025 11:00 AM **Call Order:** 002 **Contract:** E6P92-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44430337201 (\*)

Contract Desc: STRIPING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	NATIONAL TRAFFIC SOLUTION, INC	Responsive	Winning bid	\$273,998.25	100.00%
2	ROADS RENEW LLC	Responsive	Non-Winning Bid	\$303,350.50	110.71%
3	TRP CONSTRUCTION GROUP, LLC	Responsive	Non-Winning Bid	\$391,995.75	143.07%
4	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$443,632.50	161.91%
5	AMERICAN DESIGN ENGINEERING CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$1,021,797.50	372.92%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 8

**Letting:** 06251030 October 30, 2025 **Call Order:** 002 **Contract:** E6P92-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 44430337201 (\*)

Contract Descr: STRIPING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

This contract consists of applying new and refurbish thermoplastic traffic stripes and markings and remove existing thermoplastic traffic stripes and markings on various arterial state roads in Miami-Dade County. This contract includes applying new and refurbishing lane lines parallel to the direction of the traffic. The work excludes Hot Spray.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractor's bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

<sup>\*\*\*</sup>Award will be made at the Department Advertised Estimate amount of \$400,000.00.

Line No / Item ID Item Description	Alternate	Alternate Quantity (1) NATIONAL TRA			(2) ROADS R	ENEW LLC	(3) TRP CONSTRUCTION GROUP, LLC	
() indicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (F	PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0005 0102 14 TRAFFIC CONTROL	OFFICER	50.000 HR	85.00000	4,250.00	85.00000	4,250.00	225.00000	11,250.00
0010 0711 12101 THERMOPLASTIC, R WHITE, SOLID, 6"	EFURBISHMENT	1.000 , GM	4,752.00000	4,752.00	5,000.00000	5,000.00	3,600.00000	3,600.00
0015 0711 12131 THERMOPLASTIC, R WHITE, SKIP, 6"	EFURBISHMENT	1.000 , GM	1,188.00000	1,188.00	1,500.00000	1,500.00	1,600.00000	1,600.00
0020 0711 12201 THERMOPLASTIC, R YELLOW, SOLID, 6"	EFURBISHMENT	1.000 , GM	4,752.00000	4,752.00	5,000.00000	5,000.00	3,600.00000	3,600.00

<sup>\*\*\*</sup> Experience in Pavement Markings (Form #850-070-06) must be submitted with your bid as an attachment, or your bid may be found non-responsive.



Page 2 of 8

# Florida Department of Transportation



## **Tabulation of Bids**

Letting:	06251030	October 30, 20	)25 <b>Ca</b>	II Order: 002		Contract:	E6P92-R0	
Line No / It		ate Quantity Units	(1) NATIONA SOLUTION		(2) ROADS F	RENEW LLC		STRUCTION P, LLC
	item is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
	12231 STIC, REFURBISHM P, 6"	1.000 ENT, GM	1,188.00000	1,188.00	1,500.00000	1,500.00	1,600.00000	1,600.00
THERMOPLAS WHITE WITH	14560 STIC, PREFORMED, BLACK CONTRAST AVEMENT, MESSAG	ON	1,200.00000	1,200.00	950.00000	950.00	700.00000	700.00
THERMOPLAS WHITE WITH	14570 STIC, PREFORMED, BLACK CONTRAST, ONCRETE SURFAC		1,000.00000	1,000.00	600.00000	600.00	550.00000	550.00
THERMOPLAS	17 1 STIC, REMOVE EXIS STIC PAVEMENT SURFACE TO REMA		0.15000	11,468.25	1.10000	84,100.50	0.65000	49,695.75
	103101 TAPE, WHITE, SOLI ETE BRIDGES	0.500 ID, 6" GM	5,000.00000	2,500.00	19,500.00000	9,750.00	54,000.00000	27,000.00
PERMANENT W/CONTRAST	103121 TAPE, WHITE, SOLI F, 6" PRIMARY LINE CONCRETE SURFAC		5,000.00000	500.00	22,000.00000	2,200.00	70,000.00000	7,000.00
PERMANENT W/CONTRAST	103122 TAPE, WHITE, SOLI 「, 8" PRIMARY LINE CONCRETE SURFA		5,000.00000	500.00	25,000.00000	2,500.00	88,000.00000	8,800.00



Page 3 of 8

# Florida Department of Transportation



## **Tabulation of Bids**

Letting:	: 06	6251030	October 30	2025	Cal	I Order: 0	02		Contract:	E6P92-R0	
	No / Item ID Description	Alternate	Quantit Units	y (	(1) NATIONA SOLUTIO			(2) ROADS R	ENEW LLC		NSTRUCTION JP, LLC
() indic	cates item is bi	d as Lump Sum		Ur	nit Price	Ext Amou	nt	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(PAVEMEN	T STRIPII	NG (LARGE	MACHINE) (	LM				
PERMAN		WHITE, 10-30 S RETE SURFAC			5,000.00000	50	0.00	9,000.00000	900.00	29,000.00000	2,900.00
PERMAN	0713103201 IENT TAPE, \ NCRETE BRI	YELLOW, SOL DGES	0.10 ID, 6" G	00 5 M	5,000.00000	50	0.00	21,000.00000	2,100.00	54,000.00000	5,400.00
PERMAN	WIDE, FOR C	YELLOW, 10-3 CONCRETE	0.10 0 G	00 5 M	5,000.00000	50	0.00	9,000.00000	900.00	29,000.00000	2,900.00
PERMAN		BLACK, 10-30 : RETE SURFAC			5,000.00000	50	0.00	11,000.00000	1,100.00	29,000.00000	2,900.00
		NENT TAPE,	10,000.00 §	00 SF	1.60000	16,00	0.00	1.10000	11,000.00	5.00000	50,000.00
		ΓANDARD, WH	75,000.00 HTE, L	)0 .F	1.31000	98,25	0.00	1.00000	75,000.00	1.25000	93,750.00
	E711 11141 DPLASTIC, ST	ΓANDARD, WH	35,000.00 HTE, L	)0 .F	1.31000	45,85	0.00	1.00000	35,000.00	1.25000	43,750.00
THERMO	E711 11221 DPLASTIC, ST ', SOLID, 6"	ΓANDARD,	50,000.00 I	00 .F	1.31000	65,50	0.00	1.00000	50,000.00	1.25000	62,500.00



10/30/2025

## **Tabulation of Bids**

Page 4 of 8

Letting:	06251030	October 30, 20	25 <b>Ca</b>	II Order: 002		Contract:	E6P92-R0	
Line No / Ite		ate Quantity Units	(1) NATIONA SOLUTION		(2) ROADS R	RENEW LLC		NSTRUCTION JP, LLC
() indicates ite	em is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	TON: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0100 E711 1 THERMOPLAST YELLOW, SKIP	ΓΙC, STANDARD,	10,000.000 LF	1.31000	13,100.00	1.00000	10,000.00	1.25000	12,500.00
	EMENT STRIPING E MACHINE) (LM)			\$273,998.25		\$303,350.50 <sup>°</sup>		\$391,995.75
	Contract	Grand Totals:		\$273,998.25		\$303,350.50		391,995.75





## **Tabulation of Bids**

Page 5 of 8

Letting:	0625	51030 O	ctober 30, 20	25 <b>Cal</b>	l Order: 002		Contract:	E6P92-R0	
	/ Item ID scription	Alternate	Quantity Units	(4) ACME BAR	RICADES LC	(5) AMERICA ENGINEI	ERING		
	tes item is bid as	s Lump Sum	Omio	Unit Price	Ext Amount	CONSTRUC Unit Price	TION INC. Ext Amount	Unit Price	Ext Amount
s	SECTION: 00	001 (	PAVEMENT ST	TRIPING (LARGE	MACHINE) (LM				
	02 14 ONTROL OFF	FICER	50.000 HR	100.00000	5,000.00	75.00000	3,750.00		
	'11 12101 LASTIC, REFU LID, 6"	JRBISHMENT	1.000 GM	4,500.00000	4,500.00	6,500.00000	6,500.00		
	711 12131 LASTIC, REFU IP, 6"	JRBISHMENT	1.000 GM	2,500.00000	2,500.00	3,500.00000	3,500.00		
	711 12201 LASTIC, REFU SOLID, 6"	JRBISHMENT	1.000 GM	4,500.00000	4,500.00	6,500.00000	6,500.00		
	711 12231 LASTIC, REFL SKIP, 6"	JRBISHMENT	1.000 GM	2,500.00000	2,500.00	3,500.00000	3,500.00		
THERMOPL WHITE WIT	711 14560 LASTIC, PREF TH BLACK CO E PAVEMENT	NTRAST ON	1.000 EA DR	1,500.00000	1,500.00	1,500.00000	1,500.00		
THERMOPL WHITE WIT	711 14570 LASTIC, PREF TH BLACK CO N CONCRETE	NTRAST,	1.000 EA	1,000.00000	1,000.00	1,500.00000	1,500.00		
THERMOPL THERMOPL	711 17 1 LASTIC, REMI LASTIC PAVE S- SURFACE T	MENT	76,455.000 G SF	1.50000	114,682.50	4.50000	344,047.50		





## **Tabulation of Bids**

Page 6 of 8

Letting:	06251030	Octol	ber 30, 20	25 <b>Cal</b>	Order: 002		Contract:	E6P92-R0	
Line No / I		nate (	Quantity Units	(4) ACME BAR	RICADES LC	(5) AMERICA ENGINE	ERING		
	item is bid as Lump S	Sum		Unit Price	Ext Amount	CONSTRUC Unit Price	TION INC. Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(PAV	/EMENT ST	TRIPING (LARGE	MACHINE) (LM				
	103101 TAPE, WHITE, SC ETE BRIDGES	OLID, 6"	0.500 GM	32,000.00000	16,000.00	45,000.00000	22,500.00		
PERMANENT W/CONTRAST	103121 TAPE, WHITE, SC Г, 6" PRIMARY LIN CONCRETE SURF	ΙE	0.100 GM	50,000.00000	5,000.00	35,000.00000	3,500.00		
PERMANENT W/CONTRAST	103122 TAPE, WHITE, SC 「, 8" PRIMARY LIN CONCRETE SURF	ΙE	0.100 GM	65,000.00000	6,500.00	35,000.00000	3,500.00		
PERMANENT	103181 TAPE, WHITE, 10 CONCRETE SUR		0.100 GM	10,000.00000	1,000.00	35,000.00000	3,500.00		
	103201 TAPE, YELLOW, S ETE BRIDGES	SOLID, 6"	0.100 GM	32,000.00000	3,200.00	35,000.00000	3,500.00		
PERMANENT	103281 TAPE, YELLOW, FOR CONCRET		0.100 GM	10,000.00000	1,000.00	35,000.00000	3,500.00		
PERMANENT	103381 TAPE, BLACK, 10 CONCRETE SUR		0.100 GM	10,000.00000	1,000.00	35,000.00000	3,500.00		
0080 0713 PREFORMED REMOVE	107 /PERMANENT TA		0,000.000 SF	5.00000	50,000.00	3.00000	30,000.00		





## **Tabulation of Bids**

Page 7 of 8

Letting:	06251030	October 30, 20	25 <b>Ca</b> l	II Order: 002		Contract:	E6P92-R0	
Line No / Ite		ate Quantity Units	(4) ACME BAR	RRICADES LC	(5) AMERICA ENGINE	ERING		
-	m is bid as Lump Sur		Unit Price	Ext Amount	CONSTRUC Unit Price	TION INC. Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0085 E711 1 THERMOPLAST SOLID, 6"	1121 TIC, STANDARD, V	75,000.000 VHITE, LF	1.25000	93,750.00	3.50000	262,500.00		
0090 E711 1 THERMOPLAST SKIP, 6"	1141 TIC, STANDARD, V	35,000.000 VHITE, LF	1.50000	52,500.00	3.00000	105,000.00		
0095 E711 1 THERMOPLAST YELLOW, SOLID	TIC, STANDARD,	50,000.000 LF	1.25000	62,500.00	3.50000	175,000.00		
0100 E711 1 THERMOPLAST YELLOW, SKIP,	TIC, STANDARD,	10,000.000 LF	1.50000	15,000.00	3.50000	35,000.00		
	EMENT STRIPING E MACHINE) (LM)	Section Totals:		\$443,632.50 <sup>'</sup>		\$1,021,797.50		
	Contract	Grand Totals:		\$443,632.50		\$1,021,797.50		



10/30/2025

**Tabulation of Bids** 

Page 8 of 8

**Letting:** 06251030 October 30, 2025

Call Order: 002

Contract:

E6P92-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.